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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
s 14711 45 — — — 10C3+]13 59 1 075 | la 25 28 400 2 | crB BiiMuparis 1a BCUXaHNS aepes 43 3nana vatepiaie
3 ;‘2 47 12 4.7 — — - 10C3+]13+bn+0Oc¢ 59 0.8 la 25 26 440 2 CPB Biamipanim 1a BCHXALHSA JICPCB 43 HCORMOPHIKIBAHHI HE
el 4713 1.8 — — — 10C3+]13 60 0,75 la 25 26 410 2 | CPB BiaMupaniis 1a BCUXAHHS Acpes 43 PHABIEHO
Pa3om: 11
|
w 39 I 3.0 — — — 1) 7C33 )13 180 0.4 | 34 62 280 ) CPB BiiMupaHusa ta BCUXaHHS JIEPEB 14
§ ) - — — — 2) SKnr24uwm2bpe 1 J13 60 0.4 1 24 120 CPB BiaMupaHis Ta BCHXaHHS ACPCB 3riano marepianis |
2165 7 3.7 — — — 7C3(70)3C3(55) 70 0,7 | 25 34 350 2 |1 CPB BiaMupanHs ta BCUXaHHS aepes 9 MCORNOPAAKIBAHY
2 63 9 7.7 — — — 10C3 70 0,7 1 24 32 360 2 CPB BiaMupanuds ta BCHXAHHA Aepes 10 A HE BHABJICHO
2 65 | IS 4,2 — — — 10C3 70 0,6 1 24 34 320 2 CPB BlamMupanns Ta BCHXAHHS Aepes 18
Pazom: 68,8
26 7 0.8 — — — 10but 50 0,75 16 26 24 250 2 | CPB BiaMupast ta BCHXAHHS JICpeB 10 o
;"2 27 12 1.7 — — — 9C31bu+ /13 130 0.6 | 30 44 370 2 CPB BiaMHpaHns Ta BCUXAHHA JIEpeB 8 a i
o271 14 12,0 — — — 7C33]13 150 0,6 2 29 48 340 2 1 CPB BiAMHpAHHA Ta BCUXAHHS JIEPCR 8 = z
Ol 2712 11,0 — — — 8C32J13+AKG 60 0,85 la 25 26 410 2 | CPB BijiMUpaHHS Ta BCHXAHHS JICPCR 8 'QE)L s 2
21 4 7 1.9 — —_ — 8bn2(C3 70 0,65 1 27 36 260 2 CPB BiaMupadHs 1a BCHXAHHS A¢peB 35 5 g z
2 46 | 24 2.1 (1) | | 10C3 55 0,7 | 21 26 300 2 CPB BiAMHpaHHS Ta BCUXAHHS JepEB 8 = = =
=461 25 0,2 — — — 10C3 85 0.6 2 24 32 310 2 [ CPB BiaMupanHs Ta BCHXaHHS JIEPSR 8 2 g 3
E 46 | 27 0,5 — — — 10C3 85 0,55 2 23 32 270 2 CPB BiiMupanHs 1a BCHXaHHS 1epeB 8 -E g
= | 46 | 28 0,7 — — — 10C3 65 0,65 | 21 32 280 2 CPB BiamMupanus 1a BCHXaHH acpes 8 ™ 2
46 1 29 0.2 — — — 10C3 57 0.6 2 18 26 210 2 CPB BiiMHpAHHS Td BCUXAHHS JAepeB 8 s
Pazom: 31,1




1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
14 | 26 3.0 (1) 2.4 2.4 9C31 13 110 0.65 la 33 44 480 2 CPB BiMupanHs Ta BCHXaHHs Jepes 54
15 1 19 3.1 — — — 8C32/13 100 0,60 la 31 52 400 2 | CPB BiamupaHHs T2 BCUXaHHS CPCB 50
15 120 2.7 — — — 10C3+/13 85 0.65 la 31 40 460 2 | €CPB Bi/iMHpaHHs Ta BCUXaHHS JIepeB 50
15 | 21 3.1 — — — 9C31/13 100 0,50 la 31 44 350 2 CPB Biamupants Ta BCHXaHHS JIepes 50
29 | 2.2 — — — 10C3 55 0.80 18 28 30 500 2 CPB BiaMupaHHs Ta BCHXAHHSA JICPeB 47
29 2 0.4 — — — 10C3+/13+O0c+bn 60 0.65 la 24 32 330 2 CPB BuiMupans Ta BCHXaHHs JepeB 47
29 3 1.0 — — — 10C3 52 0.75 18 28 30 470 2 CPB BuiMupaHHs Ta BCHXAHHS JIEpEB 47
29 4 0.4 — — — 6J133C310c+bn 60 0.70 la 26 28 370 2 CPB BiMupaits Ta BCHXAHHS JIepeB 47
31 1 9.8 — — — 9C31/13 80 0.75 16 31 40 520 2 CPB BiaMupaHHs Ta BCUXaHHS JICpeB 33
35 | 28 2.0 — — — 9131C3 120 0.70 1 3 44 430 2 CPB BimMupauus Ta BCUXaHHS epeB 22
35 1 30 1.8 — — — 6J134C3 120 0.70 1 30 52 430 2 | CPB BiMUpaHHs Ta BCUXaHHS JACpes 22.
35 1 36 1.5 — — — 8J132C3 120 0.70 2 27 44 360 2 | CPB BijimipanHs Ta BCHXaAHHsI AepeB 22
35 | 37 0.5 — — — 8/132C3+0¢ 60 0.70 1 22 26 280 2 | CPB BiMupaHHs Ta BCUXaHHS JAepeB 22
48 | 2.6 — — — 10C3 83 0.75 16 32 44 560 2 CPB BiamupaHHs Ta BCHXaHHs J1epeB 29
48 2 0.5 — — — 10C3+]13 60 0.70 10 27 30 420 2 | CPB BiamHpaHHs Ta BCUXaHHS JAepes 29
48 3 2.8 — — — 10C3 83 0,70 la 3 44 500 2 CPB BisiMupants Ta BCHXaHHS 1EpeB 29
48 4 7.0 — — — TH33C3 110 0.70 | 30 40 420 2 CPB BuMipants Ta BCUXaHHS J1IepeB 3 2
48 3 2.1 — — — 9C31 /13 75 0.75 la 29 32 480 2 CPB Bi/iMHpaHHs Ta BCUXaHHS JICPeB 29 L
48 9 1.1 — — — 10C3 60 0.75 106 27 28 450 2 CPB Bimupatts Ta BCUXaHHS JIEPEB 29 5
48 1 10 0.9 — — — SC33Kucl AxO 1 Sae 73 0.70 la 29 36 390 2 | CPB BiaMupaHHs Ta BCUXAHHS JIepeB 29 =
48 | 11 0.6 — — — 8C32/13 37 0.65 10 27 28 370 2 CcPB Bijamupanss Ta BCHXaHHS JIepeB 29 L
48 | 17 2.8 — — — 10C3 90 0.65 la 30 44 450 2 cpPB BiMHpaHHA Ta BCHXaHHS ACpes 19 =
= | 48 | 18 0.8 — — — 9C31/13 130 0.43 2 29 60 290 2 CPB BliMupaHHs Ta BCUXaHHs JepeB 19 I
=419 1.4 — — — 8C32)13 100 0.60 la 33 52 440 2 | CPB BiamupaHHs Ta BCUXaHHS Aepes 19 g
6 48 | 20 1.5 — — — 10C3 85 0.70 16 33 40 540 2 CPB BuimMupats Ta BCHXaHHS JepeB 19 g
-2 | 48 | 21 2.0 — — — 10C3 75 0.75 la 29 32 490 2 CPB BiavupanHs Ta BCUXaHHs Jepes 19 =
E 48 | 22 1.1 — — — 7C33/13 . 150 0.60 2 29 64 360 2 CPB Buamipaiitis Ta BCUXaHHS JACpCB 19 §
=< | 48 | 23 0.4 — — — 10C3+/13 100 0.60 la 31 56 430 2 CPB Biamupaniist Ta BCUXaHHs Jiepes 3 2
= |48 | 24 1.5 — — — 10C3+/13 80 0.75 la 29 32 490 2 cPB BramupanHs Ta BCHXaHHS JIepeB 38 2
= |48 ] 23 2.7 — — — 10C3 103 0.60 la 31 48 430 2 | CPB BiLaMHpanHs Ta BCUXAHHS Jepes 3 Z
z 48 | 26 1.3 — — — 10C3 160 0.40 2 27 64 240 2 CPB Biamupantisi Ta BCUXaHHS Jiepes 38 %
48 | 27 0.2 — — — 10C3 70 0.75 16 29 32 490 2 CPB BuaMipanisg Ta BCHXaHHS J1epes 38 =
48 | 28 2.3 — — — 8/132C3 110 0,50 2 27 52 250 2 CPB BuiMHpants Ta BCHXAHHSI JICpPeB 22 et
48 1 29 0.4 — — — 10C3 70 0,70 la 26 30 400 2 CPB BuiMupanHs Ta BCHXaHHS JICpeB 38 2
48 | 30 0.8 — — — 9/131C3 120 0.45 2 26 56 200 2 1 CPB Buimupants Ta BCUXAHHS JCPCB 22 2
48 | 31 0.1 — — — 10C3+AKD 38 0.70 10 27 30 420 2 cPB BiiMupanns Ta BCHXaHHSL 1epes 3 =
52 | 2.5 — — — 10C3 80 0.75 la 29 60 490 2 CPB BiiMHpaHHS Ta BCUXAHHS JCPCB 12 ~
52 2 4.4 — — — 9C31]13 105 0.50 1 28 48 310 2 CPB BiiMipais Ta BCHXaHHS JIepes 12
52 3 1.7 — — — 10C3+/13 60 0.75 la 26 28 430 2 CPB Biimupanns Ta BCHXaHHS epes 12
52 4 1.7 — — — 10C3+/13 103 0.50 | 30 52 340 2 CPB BuiMipanHs Ta BCHXaHHS Aepes 12
52 5 0.1 — — — 10C3 56 0.70 la 24 26 360 2 CPB Buamupanus 1a BCHXaHHS J1epeB 12
52 6 0.2 — — — 10C3 56 0.75 16 25 26 410 2 CPB BiaMupatiis Ta BCUXaHHSL JIepes 12
52 7 1.9 — — — 10C3 63 0.75 la 25 26 410 2 CPB BiiMHpaHHs Ta BCHXAHHS JICPEB 12
52 8 0.4 — — — 10C3 80 0.65 la 29 40 430 2 CPB BiMHPaHHS Ta BCHXAHHS JICPCB 12
52 9 0.6 — — — 10C3 80 0.75 la 28 36 470 2 | CPB BiamMupaHHs Ta BCHXAHHS JICPEB 12
52 110 1.9 — — — 10C3 105 0.70 | 28 56 440 2 | CPB BijMupatits Ta BCUXaHHs J1epes 12
52 | 11 0.4 — — — 9C31/13 59 0.75 la 24 26 380 2 CcPB BiaMipanus ta BCHXaHHsL Jiepes 12
52 ) 12 3.6 — — — 10C3 80 0.75 la 28 40 470 2 | CPB BiaMupaHHs Ta BCHXaHHS JIepes 12
52 3 0.8 — — — 9C31/13 59 0.75 la 24 26 380 2 CPB BuamupanHs ta BCHXaHHsL JIepeB 12
52 [ 15 0.2 — — — 10C3 105 0.65 | 29 48 430 2 CPB BiaMupans Ta BCHXaHHS JIepes 12
52 1 16 0,2 — — — 10C3 80 0.75 la 30 36 510 2 CPB Biamupanns ta BeuxarHs J1epes 12
52 | 17 0.7 — — — 10C3 80 0.73 la 28 30 470 2 CPB Biavupanis ta BeuxadHs jepes 12
52 18 2.8 — — — 9C3 113 103 0.60 | 30 32 400 2 CPB BiMHpaHHs Ta BCHXaHHs JIepeB {2




1 2 3 4 S 6 7 8 9 10 11 12 13 14 15 16 17 18 19
@ 52 119 1,5 — — — 8C32bn 80 0.70 la 29 40 420 2 | CPB BiaMHpaHHs Ta BCUXaHHS JIepeB 12 o =
gz | 52 |21 0.6 — — — 9C31/13 57 0.70 la 25 26 370 2 CPB Biamupanis Ta BCUXaHHS 1epeB 12 = E
= | 52 22 1.3 — — — 8C32]13 100 | 0.50 | 30 52 330 2 |1 CPB BiamupanHs Ta BCUXaHHS AEPEB 12 2 g 2
O 51 23 0.2 — — — 10C3+]13 100 0.40 | 27 52 240 2 CPB BiamupanHs 1a BCUXaHHS JIepeB 12 0:_3' z 2
é 52 1 24 1.1 — — — 10C3 80 0.50 | 27 36 300 2 | CPB BiMupaHts Ta BCUXaHHs JICPeB 12 g g g
E 52 125 0.6 — — — 8C32)13 105 0.50 | 30 52 330 2 | CPB BiamupanHs Ta BCUXaHHS JIepes 12 g g @
=~ 52 126 0.8 — — — 10C3 80 0.70 la 30 30 480 2 CPB BiiMupaHHs Ta BCUXaHHS 1epEB 12 E 2 L
= 52 {27 2.5 — — — 10C3 60 0.70 la 24 26 360 2 CPB BuiMupants Ta BCUXaHHS J1epeB 12 oA 2
52 [ 28 5.7 — — — 10C3 60 0.75 la 26 26 430 2 CPB BiaMUpaHHs Ta BCUXAHHS JICPEB 12 =
Pazom 106.8
20 ] 18 0,5 — — — 10C3 85 0.55 la 30 44 380 2 CPB BiiMupanHs 1a BCHXaHHs 1epeB 54 ]
22 | 15 12,5 — — — 10C3 160 | 045 2 30 62 310 2 | CPB BijiMitpans Ta BCIXAHHS JIepCB 8 =
22 | 18 23 — — — 10C3 130 | 0,33 | 30 56 380 2 | CPB BiaMupaHHs 1a BCUXAHHS J1epeB 8 I
30 | 24 34 — — — 10C3 150 0.45 2 30 62 300 2 | CPB BijivupaHHs Ta BCUXAHHS JIepeB 21 g
30 | 34 0.5 — — — 10C3 130 0.45 1 30 60 310 2 | CPB BiMupaHHs Ta BCUXAHHS JIepeB 21 g
= | 31 ] 25 14.6 — — — 10C3+)13 170 | 0.50 1 31 64 360 2 | cPB Biamupanns Ta BCHXaHHS 1ePeB 16 =
E 32 3 10.8 — — — 10C34/13 75 0.85 16 30 40 580 2 | CPB BLiMHpaHHs Ta BCHXaHHS JIEPEB 32 c 5
| 32 4 4.4 — — — 10C3+]13 75 0.75 16 30 40 510 2 | CPB BiaMupaHHs Ta BCUXAHHS JCPeB 32 2 5
= | 32 5 0,7 — — — 10C3+/13 61 0.70 16 29 32 460 2 | CPB BiaMupanns Ta BCUXaHHS ACpeB 32 L2 3
| 32 7 0.3 — — — 10C3 75 0,65 16 30 40 450 2 | CPB BiaMupaHHS Ta BCUXAHHS ACPEB 32 Z £
% 321 16 29 — — — 6C34]13 170 0.50 2 30 60 300 2 | CPB BiaMHpaHHS Ta BCUXAHHS JICPEB 7 % «
= 32 ] 17 0.8 — — — 8C32]13+bn 170 0.35 2 30 64 230 2 | CPB BiMupaHHs Ta BCUXaHHS Jiepes 7 =
321 20 8.2 — — — 7C33]13 170 0,43 2 30 76 280 2 [ CPB BiaAMHpaHHS T BCUXAHHS JIepeB 7 %
381 10 10.6 — — — 8C32]13 170 0.60 2 30 60 390 2 | CPB BiaMHpaHHS Ta BCUXAHHS JICPEB 7 =
38 | 11 0.8 — — — 9C31/13 160 0.60 1 31 64 420 2 | CPB BiMHpaHHs Ta BCUXAHHS JIEpeB 7 2
38 | 12 0.4 — — — 10C3 100 0.65 1 30 56 450 2 | CPB BiaAMHpaHHs Ta BCUXAHHS JIepeB 7 Rt
38 | 13 2.9 — — — 10C3+]13 100 0.65 |1a 31 56 460 2 | CPB BijiMMpaHHS Ta BCUXAHHSI J1epeB 7 5
Paszom: 76,6
BCbOI'O : 294,3
. 16 6 2.3 1) 0.4 0.4 76n3C3+Bnut/13 70 0.63 2 24 28 2350 2 CPC | MacoBe BIAMHPAHHSI T2 BCHXAMHS /ICpeB 93
= 16 | 100 7b11(60)2b1(35)1C3 60 | 03 2 19 22 110 = =
g 51117 4,0 (h 2 2 7bn2Baul C3 60 0.6 | 22 28 190 2 | CPC | Macose BiAMUPaAHHS Ta BCUXAHHS 1€peB 81 E § 2
= 18 0.3 8bn2Buiy 25 0,6 la 12 12 80 2‘“ g “;’
= |3 13 5.9 |« 1) 0,1 0.1 8C3(60)2C3(90) 6() 0,75 la 23 28 370 2 CPC | Macose BIAMHpaHHSI Ta BCHXAHHS JICPEB 370 g g_ =
|- 11 0.5 10C3 60 0,6 | 22 28 270 . . 2 2=
E 51 B 3 (1) 0.1 0,1 9C335)1Co(80) 35 08 T > 3% 370 2 CPC Macose BiIMHpaliHs JepeB 440 ;r % >
65 | 18 4.0 (h 0.7 0.7 10C3 75 0.7 ! 24 34 360 2 | CPC | MacoBe BIAMHpaHHS Ta BCUXAHHS JIepeB 297 ” =
Pasom: 33 3,3
I 560 ;Z (h 1.8 1.8 l?géiﬁ:\gn Z; 007; I]a ;? 2’(2) ;;8 2 | CPC | Macose BIAMUPAHHA Ta BCHXAHHS JICPEB 166 }
I
!::‘ 1 i :(l) (h 0.8 0.8 AP rﬂsgg}ii\n:ﬁoﬂ aen G 15050 0. ; ;? 32 Si() 2 | CPC | Macose BUIMHpaHHS Ta BCHXAHHS jepes 84 2 E
Z | 3 1 12,0 (1) 0.8 0.8 10C3+/13 150 0.5 1 33 52 390 2 CPC | Macose BIAMHpAHHS Ta BCUXAHHS JICPEeB 360 5 % %
: 31 1 12.0 (2) 0.7 0.7 10C3+]13 150 0,5 | 33 32 390 2 CPC | Macose BLAMMpaHHS Ta BCUXAHHS JICPEB 229 § 2 =
g L 120 10C3+/13 150 [ 05 [ 1 33 52 390 o &%
2 31 ; 203; (3) 3,1 3.1 Iol(()?fh :;8 8’55 : ;:% ;é '3188 2 CPC | MacoBe BIAMHPAHHS Ta BCHXAHHS JepeB 308 g g
4 0,4 10C3 63 0,7 la 25 32 380 -
38 2 30.8 (1) 2 2 9C3(150)1C3(55)+/13+bn 150 0.5 | 33 52 380 2 CPC | Macose BLAMHpaHHS! Td BCHXAHHS JICPCB 277
Pazom: 9,2 9,2




1 2 3 4 5 6 7 8§ 9 10 11 12 13 14 15 16 17 18 19
25 58 12 (h 0.2 0.2 :85; 22 %783 lla ;i gg 328 2 | CPC | Macose BiAMUpaHHs Ta BCUXaHHS jCpeB 240 .
= 31 | 45 1.8 () 0,9 0.9 10Bau+bn+C3 65 0.7 | 24 26 300 2 | CPC ] MacoBe BiAMHpaHHS Ta BCUXaHHsI JICPEB 277 =
§ 31 i"; lij (2) 0.2 0.2 I()B':3g§:+( E 2; 8; ; i i(é) 2’38 2 | CPC | Macore BIIMUpAHHS Tda BCHXaHHS JiepeB 195 ;_“_ 3 %
=} 1 0.2 9Ba41C3t+bn 80 0.6 2 23 32 250 EREE
::_ 32 2 0.4 (1) 1.1 1.1 8C31Baulbn 80 0.55 | 24 44 260 2 CPC | MacoBe BIAMHUpAHHS Ta BCHXAHHS /1CPEB 233 2 Zf-‘« g
= 4 0.8 10Bay 60 | 07 I 24 26 300 55
= 2] 07 10C3+bn 50 | 065 | 2 17 26 200 2
55117 0.8 (hH 0.3 0.3 106n1+0c+C3 05 0.65 | 23 32 220 2 | CPC | Macose BiAMHpaHHs Ta BCUXAHHSI JIEPEB 126. . -
30 0.3 10C3 50 0,75 | 20 24 300
Pazom: 2,9 2,9 i
3 1,0 9C31]13 70 0.8 la 27 32 470
. 4 ': gz () 0.9 0.9 188 ?9 82; iz ;% jg j;;g 2 CPC | MacoBe BiAMHpaHHS Ta BCUXAHHS JIepeB 423 - i
= 6 6.1 10C3 63 0.85 16 29 30 560 z
& 8 28 10C3 60 | 075 | 16 27 30 450 z
E 4 190 3; (h 1.4 1.4 6C3( ’60335:‘ 6013 l;:,;) 00775 12}3 ::(7) ;: j;g 2 CPC | MacoBe BiIMHpaHHs Ta BCUXaHHS IepeB 368 §
= [ 8.5 10C3 55 0.8 16 26 28 460
- 9] 03 10C3 55 1 07 | 1a 24 26 360
31 20 1.3 (h 0.2 0.2 10C3 90 0.7 la 31 36 500 2 CPC | MacoBe BiAMHpaHHS Ta BCHXAHHS epeB 280
21 3.6 9C31bn 14 0.7 la 6 8 40
Paszom: 2.5 2,5
; 3riaHo Matepiatis
= 34 5 0.8 (1) 0.4 0.4 6C34/{3+bn 100 0.6 | 28 44 300 2 CPC | MacoBe BLAMMPAHHS Ta BCHXAHHS /1epeB 140 ACOBIOPAKY-
'; BAHHA HC BUABJICHO
Pazom: 0,4 0,4 )
BCLOT O: 18,3 18,3 -/
7 . .‘:/,,
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